Soustraction AVEC Retenue (A)

Nom:

813
_ 74

934
— 68

300
_ 34

915
— 19

931
_ 42

Calculez la différence.

912
— 64

300
— 39

641
— 86

927
_ 49

824
— 56

420
_ 45

780
— 96

512
_ 48

322
— 64

255
— 77

952
— 87

532
- 99

222
— 69

845
— 98

561
— 76
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Soustraction AVEC Retenue (A) Réponses

Nom: Date:

Calculez la différence.

813 912 420 952
_ 74  _ 64 _ 45  _ 87
739 848 375 865
934 300 780 532
~ 68 -39 —96 — 99
866 261 684 433
300 641 512 222
34 -8 — 48 - 69
266 555 464 153
915 927 322 845
~ 19 - 49  _— 64  _ 98
896 878 258 747
931 824 255 561
42 -5 - 77 - 76

889 763 178 485

MathsLibres.com




